WHZEREBZEREEEGEL -—HQBEERY

o R OE 107 £ 1 B F 107 £ 12 A B R RE
1% = 2 5 ES F
= g EE ik B & % K
5 % | B | | & AN A 54
4 % fiH k|
a3 iz i 4 iz # 4 iz 5 4 B %
T =X T X T | BB | R ERE | HF X T =
HE 54 HE 54 HE 5 A 54
4 z 1,725 1,681 593 ,725 1,681 593 ,304 1,650 390 555 31 31 38
m o -~ F O P 9t 1,236 1,194 435 ,236 1,194 435 928 1,172 291 413 17 22 22
rEhE B PSR RIS (IMET) 480 485 145 480 485 145 374 476 92 129 14 9 16
BT TEIF P HEasAs (IMST)
HiNet ZIESHEE H F4RES ; ; ; ; ; ;
ME5E(HiNet 22 ADSL FHFiRS% )
YA EEEIESE (SKYPE MR5%) 3 1 8 3 1 8 1 1 2 8
B EIRSE (E-MAIL 1R%%)
Mg ERtE (1P)
H it 3 1 2 3 1 2 1 1 2 2
SREH ¢ KRR SEEEENER -

BERAOE © aEEEARUEN

BRIy

HEHNEREL



